


◼

◼

◼

◼





High power factor > 95%

Dual CCS2 connectors or CCS2 + CHAdeMO

Simultaneous charging

Supports TN-S, TN-C, TN-C-S, TT, IT

Output current 200A (CCS2) ,125A(CHA)

Wide output voltage 200-1000V



Athena 60kW

Power Input

Input Rating 400Vac±10%, 3-Phase, 50/60 Hz, L1+L2+L3+PE

Power Factor 0.99 at nominal output power

Current THD ≤5% at nominal output power

Efficiency Rectifier ≥95% at nominal output power

Power Output

Output Interface
Configuration1: 2 x  CCS2
Configuration2: CCS2 + CHAdeMO

Output Power CCS2: 60kW max., CHAdeMO: 60kW max.

Output Voltage CCS2: 150-1000Vdc, CHAdeMO: 150-500Vdc

Output Current CCS2: 200A max. , CHAdeMO: 125A max.

User Interface & 
Control

Display 7'' LCD Touch Panel

Support Language Simplified chinese, English, Other languages available upon request

Push Buttons Emergency stop button

RFID Reader ISO/IEC 14443 A/B Mifare RFID reader

Communication
Network Interface 4G, Wi-Fi, Ethernet

Protocol OCPP1.6J

Environmental

Operating Temperature -30℃ - 50℃

Storage Temperature -30℃ - 70℃

Humidity 5%-95% no condensation

Altitude ≤2000m

Mechanical

Ingress Protection IP54

Enclosure Protection IK10 (IK08 for display)

Cooling Forced air

Charging Cable Length CCS2+CCS2 Version: 5m, CCS2+CHAdeMO Version: 4.5m

Dimension (WxHxD) 750*750*310mm (depth without connector holder)

Weight approx. 125kg (excluding power modules)

Installation Column-mounted, Wall-mounted

Regulation Certificate CE, TR25,RCM



•

•

•



•

•

•

•









•

•



•

•

•

•



Name Package Configuration
Package 
Size(mm)

Weight 
(kg)

Attachment 
paper

Parts List

DC charger
Wooden 
box

Standard
1250 W
1110 D
765 H

193 kg

1*Certificate of
conformity
1*Factory
inspection report
1*User manual

1*Mounting bracket
2*Door brace
8*Key
2*Connector holder
8* Screw M4
5* Expansion bolt M8
8* Expansion bolt M6

Power 
module

Standard

CMS 
assembly

Wooden
box

Optional
800 W
600 D
510 H

60

1* Adapter plate
2*Main part
4*Screw M8
8*Screw M6

Pole
Wooden
box

Optional
550*472*
915

45
7* Screw M8
8* Expansion bolt M10



Sub-project Acceptance items

Installation plan The installation location complies with the construction plan design drawings

Distribution box 

MCCB
The distribution box meets requirements of section 2.8 in the installation manual

Input cable
Input power cable meets requirements of section 2.5 in the installation manual

Network cable cat6a (if Ethernet communication is required)

Concrete foundation
Dimensions meet requirements

Foundation bolts meet the requirements of section 2.6 in the installation manual

Maintenance distanceThe maintenance distance meets the equipment spacing requirements in section 2.7







































(1) Short circuit: check the power supply cable , there should no short circuit between the three-phase 
wire, neutral wire and ground wire.

(2) Power supply voltage : Check the power supply voltage in distribution cabinet, ensure there are no 
lack-phase, over voltage, under voltage, phase sequence abnormality.

(3) Line voltage of charger inlet terminal should be 400V (±10%).



•

•

•







1

3

1

1
2

2

4

6
6

5

1

1
1

4

5 7 7

4

8
4

4

4



1

2

5

4

3

① M4 Control Board

② A7 Main Board

③ 4G Communication Board

④ A7 Core Board

⑤ LED Indicator board



Switch for 
control boards

Switch for 
power modules

Switch for SPD

Switch for 
power modules



2

1

① Fan

② Power Modules

③ Power module socket

④ Tilt switch

3

4



Commissioning Flow Chart for DC EVSE

In
st

al
la

ti
o

n
 

En
gi

n
ee

r
C

o
m

m
is

si
o

n
in

g 
En

gi
n

ee
r

Q
C

Te
ch

n
ic

al
 S

u
p

p
o

rt
 

En
gi

n
ee

r

Installaltion 
recheck

Whether the 
installation 
meets the 

requirements

YES
Check before 

power on

Whether the 
appearance, internal 

wiring, insulation 
resistance and input 

voltage meet the 
requirements

YES
Check after 

power on

Whether the 
voltage and 
hardware 

function meet 
the requirements

YES
Parameter 

configuration

Whether the 
configuration is ok 

and EVSE is 
connected to 

backend

YES
Charging 

function check

Whether the 
hardware work 
according to the 

requirements

YES
Training and 

report finishing

Corrective 
maintenance

Corrective 
maintenance

Corrective 
maintenance

Corrective 
maintenance

Corrective 
maintenance

Corrective 
maintenance

Corrective 
maintenance

Corrective 
maintenance

Corrective 
maintenance

Corrective 
maintenance

NO NO NO NO NO



•

•

•

•

•



•



•





•

•

•

•

•







1



The username and password may change in new 
firmware version. If you have issue during log in, 

please contact StarCharge service tam







•

•

•



•

•

•

•

•











Authentication method Principle



•

•

•

•







Top

Bottom

A02

G02

A01

G01











Plug charger
gun into EV

Swipe RFID 
card or use
App to start

Swipe RFID card or
use App to stop

1 2

34





•

•





•

•

•

Display Backend



•

•

•

Charger log file





Star Charge, Faster and Smarter!

Europe office: Rugbyring 12, 65428 Russelsheim, Germany

Headquarter: No,39 Longhui Road, Wujin, Changzhou, Jiangsu, China

WWW.STARCHARGE.COM


